Homework Answers for Week 9
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(1 mark for 2 correct, 2 maris f:r' TII correct)
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Grammar:

1) Very slowly — Adverbial phrase
Blue leather shoes Noun phrase
Under the stairs — Prepositiona) phra
(1 mark for 1 correct, 2 for ‘"” )

2) Who owns the pink unicycle? Who
We don't like horror films, We mix them,
Will help.  She will help,
| have met - | have met them,
(1 mark for 2 correct, 2 marks for a| correct) : 4

3) very bravely
extremely clearly.
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Spelling: e

entences wnere ords are

3y AT }s—le is an adventurous boy, Used Correctl,
i | want to be famous.

The film was very humoroys,

1t was a disastrous trip, 3 ' ' ®
(1 mark for 2 correct, 2 marks for 4] correcy) 8 'ng

1) ferocious, nutritious, cautious, precious, luscioys
conscious, atrocious, superstitious, scrumptious
(1 mark for 4 correct, 2 marks for all correct)

rely fictitio
as she thi



Punctuation: 77 ey WWUK ME o the Cinema,

The book I'm réaaihg, which is about outer space, has a red
cover. ) 3 ) :
Orlaith’s favourite jumper, which has dinosaurs on it is
made of wool.

You can use a pair
information. ,
Commas can help to

(1 mark for 1 cc

2) '7:"'1:‘ Ivn’l(mu BN Are Corrme t
ad steak and ¢ hi
The town hally hm'\: ::.Zu':?n:."m 1 ever,
These Sentences need Omimas: s -
After snooker, pool is my favourite R
Carmen plays the banjo, the PIANo and the Huitar
I locked my bicycle, which is blue and green by
the factory. y

(1 mark for 1 correct, 2 ma
Sir, Zoe, the girl with black

rks for all correcy;
hair, wont Stop singing,

nce that's grammatic
d the punctuation gi

ally correct, and fits with the
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Arithmetic:

o2
Working: 66|g1 16
-594

15756
-132

44
(2 marks for the correct answer.

' 1 mark if the answer is wrong but

at a correct method has been used)

metr
Geometry - = sranistics

6)

] ik
S

rrect line on sensible axes.

vk for four or more
correctly plotted points.,)
Number of stars

T
(2 marks for a co
Olherwmlma




Number: ':‘m.mn'z.'::'o':.-.e-:'m""""""'

12) 6.1y 1 mark)
0.999 (1 marly

13) 4280 (1 mark)

14) 1000.0.4t9
100, 100

97, 11

16) 33 + 8 (1 mark
13 =3 (1 mark)

17) 8970 g (1 mark)
(1495 g x 6)

18) 30 682
Working: 1334




